Geometry - Ch. 6 Review Name: K 6Y
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L ABCD isa purullelogmm Find m£C. 2 J ACK is a parallelogram. Find the perimeter.
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@‘\BCD is a parallelogram and m<BAD = 141°. EFGH is an isosceles trapezoid:

Find m21. P———— If HF = 13Find EJ.
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6. HJIKL is a kite.
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8. ABCD is a rectangle.
AD = 2
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9. In parallelogram EFGH, if EL = 9x - 1
and IG = 7x + 15, Find EG.
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11. In parallelogram EFGH, m£E = 8x + 6
and m2G = 5x + 18. Find mZH.
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In trapezoid GHIJ, KL is a midsegment,
JI=x+5,KL=3x-7,and GH = 4x - 5.

Find JI. 14+S
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10. In parallelogram ABCD, mZA = 45°,
Find m«B.
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12. In trapezoid ABCD, EF is a midsegment,
DC=8,and AB = 12, Find EF.
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14. The given figure EFGH is a square. If
EG = 8x and FH = 12x - 4, then find EG.
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15. In parallelogram PQRS, if m<P = bx - 8 In rectangle ABCD, BE = 3x. d
and m£R = 4x + 2, then find the m£Q. DE = 5x - 8, then find AC. = ‘-H'
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17. The given figure ABCD is a rectangle. {"18 \DEFG is a rhombus. Find mE.

If ms1= 68°, then find x.
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Directions: (Multiple Choice) Choose the best answer choice. ’7: = 32
20. ABCD is a trapezoid. The length of AB = 13,

AD mitsddérer?, BRd.BC = 5. Find the length of
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The perimeter of a square MNOP is 72in
~ and NO = 2x + 6. What is the value of x.
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21. What value of x will make the quadrilateral 22. WXYZ is arhombus. What is the value of
a parallelogram? € ons€<. Ls supp x?
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23. Inisosceles trapezoid ABCD, find m£B. 24. KLMN is a rectangle. Find the values of x

and y. N M
(A)110° 3y 2T g
(B) 55° (A)X=50,y=16 W
@)X=40,yz5 K= ]
(D)60° C)X=40,y=16 3y 4121 = Syt
(E) 140° (D)X =50,y=5) 1O = 5y
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JJFind the length of KL in the trapezoid.
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25. In trapezoid KLMN, KL and NM are

(A)Legs K . L (A) 22 K
0 ) s
(C) Consecutive angles (€) 13
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27. The diagonals of a rectangle must 28. Inrectangle ABCD, AB = % x + 6 and
Ch = ;x — 2. Find the value of x.
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29. The midsegment of a trapezoid is 9cm long. 30. Whlch.s’rattt:menfs below mus.T be. true if
What choice below is NOT a possible choice A_BCD is an isosceles frapezoid with a leg
AD?

for the lengths of the bases.
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31, Rectangle
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32. Rectangle
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